O-Ring Face Seal

FS0304 ORFS Cap FS0318 ORFS Tube Nut

Sdildvav

306

SAE # 520112 SAE # 520110
(Ll B
‘._ A_.| |+—a—|
T1 T1 Tube
Part Number Part Number

E D FORFS 20 FORFS oD
FS0304-04 %e6-18 FS0318-04 %e6-18 Ya
FS0304-06 46 -16 FS0318-06 46 -16 3
FS0304-08 136 - 16 FS0318-08 136 - 16 o
FS0304-10 1-14 FS0318-10 1-14 S
FS0304-12 1346 - 12 FS0318-12 1346 - 12 3
FS0304-16 1746 - 12 FS0318-16 1746 - 12 1
FS0304-20 16 - 12 FS0318-20 16 - 12 1Ya
FS0304-24 2-12 FS0318-24 2-12 1%

|eag aoe4 bury-0O m

FS0306 ORFs Bulkhead Locknut

SAE # 520118
=
T1

Part Number FORFS
FS0306-04 %e - 18
FS0306-06 46 -16
FS0306-08 1346 - 16
FS0306-10 1-14
FS0306-12 1346 - 12
FS0306-16 176 - 12
FS0306-20 1146 - 12
FS0306-24 2-12

FS0319 ORFS Tube Sleeve

SAE # 520115

Part Number TUBE O.D.

FS0319-04

T

2]

Va

FS0319-06

§Z)

FS0319-08

Y2

FS0319-10

%

FS0319-12

34

FS0319-16

1

FS0319-20

1Ya

FS0319-24

12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"




O-Ring Face Seal

FS0403 BORE - MF Straight FS1700 MF - Flange (61)
l T m @[@ T2
l J
[—— | A |
B T1 T1 T2
A N L2C T BORE MORFS Part Number — \1oprs Code 61
FS0403-0404 0. 256 %6 - 18 FS1700-1212 11%¢ - 12 Y
FS0403-0604 0. 381 %6 - 18 FS1700-1216 11%6 - 12 1
FS0403-0606 0. 381 116 - 16 FS1700-1612 11%6 - 12 %
FS0403-0608 0. 381 136 - 16 FS1700-1616 1746 - 12 1
FS0403-0806 0. 506 116 - 16 FS1700-1620 11%6 - 12 1Y
FS0403-0808 0. 506 %6 - 16 FS1700-2016 11146 - 12 1
FS0403-0812 0. 506 1%6 - 12 FS1700-2020 11146 - 12 1Y
FS0403-1008 0. 631 %6 - 16 FS1700-2424 2-12 115
FS0403-1010 0. 631 1-14 FS1700-2432 2-12 2
FS0403-1012 0. 631 1%6 - 12
FS0403-1210 0. 757 1-14
FS0403-1212 0. 757 1%6 - 12
FS0403-1216 0. 757 1746 - 12
FS0403-1612 1. 007 1%6 - 12
FS0403-1616 1. 007 1746 - 12
FS0403-1620 1. 007 1146 - 12
FS0403-2020 1. 258 1146 - 12
FS0403-2420 1. 508 1146 - 12
FS0403-2424 1. 508 2-12
FS1703FG MF - Flange (61) 45° FS1704FG wF - Flange (61) 90°
Forged Forged
| A | A | A |
g - B
T1 \/ m \
B
T2 ‘
T2 T
T T2
Part Number — \1oRFs Code 61 T T1 T2
FS1703-1212FG 1%6 - 12 Y MORFS Code 61
FS1703-1616FG 176 - 12 1 FS1704-1212FG 1346 -12 %
FS1703-2020FG 116 - 12 14 FS1704-1616FG 176 -12 1
FS1703-2424FG 2._12 1% FS1704-2020FG 16 -12 1Y
FS1704-2424FG 2-12 1

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX

Sdildvay

|eag aoe- bury-oO m

307



Sdildvav

|eag aoe4 bury-0O m

308

O-Ring Face Seal

FS1800 MF - Flange (62)

T

T2

Part Number

T1
MORFS

T2
Code 62

FS1803FG MF - Flange (62) 45°

Forged

T

Part Number

A

T1
MORFS

T2

T2
Code 62

FS1803-1212FG 1%4e - 12 Ya
FS1803-1616FG 1746 - 12 1
FS1803-2020FG 11%6 - 12 Ya
FS1803-2424FG 2-12 1%

FS1800-0808 %6 -12 Y2
FS1800-1212 11346 - 12 Ya
FS1800-1216 11346 - 12 1
FS1800-1612 176-12 Ya
FS1800-1616 176-12 1
FS1800-1620 176-12 1Ya
FS1800-2016 1%e6-12 1
FS1800-2020 1%6-12 1Ya
FS1800-2024 1%e6-12 12
FS1800-2420 2-12 1Ya
FS1800-2424 2-12 12
FS1800-2432 2-12 2

FS1804FG MF - Flange (62) 90°

Forged
[——A—
ﬁﬂ@ 1
T
T2 _
T1 T2
Part Number
MORFS Code 62
FS1804-1212FG 1%4e6 - 12 3
FS1804-1616FG 176 - 12 1
FS1804-2020FG 16 - 12 Va
FS1804-2424FG 2-12 1%

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"



FS2403 MF - MF

FS2404 MF - MP

| —a—]

O-Ring Face Seal

SAE # 520101
T T2

Part Number — \1opFs MORFS
FS2403-0404 %e6-18 %6 -18
FS2403-0604 46 -16 %6 -18
FS2403-0606 46 -16 46 -16
FS2403-0806 136 - 16 /46 -16
FS2403-0808 136 - 16 136 - 16
FS2403-1008 1-14 136 - 16
FS2403-1010 1-14 1-14
FS2403-1208 1%6 - 12 1346 - 12
FS2403-1210 1%46 - 12 1-14
FS2403-1212 1%46 - 12 1346 - 12
FS2403-1612 176 - 12 1346 - 12
FS2403-1616 176 - 12 1746 - 12
FS2403-2016 1146 - 12 1746 - 12
FS2403-2020 1146 - 12 1146 - 12
FS2403-2420 2-12 1146 - 12
FS2403-2424 2-12 2-12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX

T1 T2
Part Number MORFS MNPT
FS2404-0402 %e6-18 s - 27
FS2404-0404 %e6-18 Ya-18
FS2404-0406 %e6-18 % -18
FS2404-0408 %e6-18 2-14
FS2404-0602 46 - 16 e - 27
FS2404-0604 46 - 16 Ya-18
FS2404-0606 46 - 16 % -18
FS2404-0608 46 - 16 2-14
FS2404-0804 %6 - 16 Ya-18
FS2404-0806 %6 - 16 % -18
FS2404-0808 %6 - 16 2-14
FS2404-0812 %46 - 16 % -14
FS2404-0816 %6 - 16 1-11%
FS2404-1008 1-14 2-14
FS2404-1012 1-14 % -14
FS2404-1016 1-14 1-11%
FS2404-1208 1%46-12 2-14
FS2404-1212 1%46-12 % -14
FS2404-1216 1%46-12 1-11%
FS2404-1612 1746 -12 % -14
FS2404-1616 1746 -12 1-11%
FS2404-1620 176 -12 1Va - 112
FS2404-2016 116 - 12 1-11%
FS2404-2020 116 - 12 1Va - 112
FS2404-2424 2-12 1%-11-

Sdildvay

|eag aoe- bury-oO m

309



Sdildvav

|eag aoe4 bury-0O m

310

O-Ring Face Seal

FS2406 FFX - MF

FS2408 ORFS Hex Plug

T T2
Pl N2 FORFS MORFS
FS2406-0404 %6-18 %e-18
FS2406-0604 46-16 %e-18
FS2406-0606 46-16 46-16
FS2406-0804 136 - 16 %e-18
FS2406-0806 136 - 16 46-16
FS2406-0808 136 - 16 136 - 16
FS2406-1004 1-14 %e-18
FS2406-1006 1-14 46-16
FS2406-1008 1-14 136 - 16
FS2406-1204 1%46 - 12 %e6-18
FS2406-1206 1%46 - 12 46 -16
FS2406-1208 1%46 - 12 136 - 16
FS2406-1210 1%46 - 12 1-14
FS2406-1216 1%46 - 12 1746 - 12
FS2406-1608 176 - 12 136 - 16
FS2406-1610 176 -12 1-14
FS2406-1612 176 -12 1346 - 12
FS2406-2012 116 - 12 1346 - 12
FS2406-2016 116 - 12 1746 - 12
FS2406-2024 116 - 12 2-12
FS2406-2416 2-12 1746 - 12
FS2406-2420 2-12 1146 - 12

SAE #520109
T1
Part Number MORES
FS2408-04 %e6-18
FS2408-06 146 - 16
FS2408-08 %6 - 16
FS2408-10 1-14
FS2408-12 1%46 - 12
FS2408-16 1746 - 12
FS2408-20 1146 - 12
FS2408-24 2-12
FS2500 MF - MF 90°

SAE #520201
T2 -
l
ﬁﬂ 1
|[—A—]
T1 T2
Part Number
20 MORFS MORFS
FS2500-0404 %6 -18 %e6-18
FS2500-0606 146 - 16 1146 - 16
FS2500-0808 1346 - 16 1346 - 16
FS2500-1010 1-14 1-14
FS2500-1208 1346 - 12 1346 - 12
FS2500-1212 1346 - 12 1346 - 12
FS2500-1616 176 - 12 1746 - 12
FS2500-2020 1146 - 12 1116 - 12
FS2500-2424 2-12 2-12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"




FS2501 MF - MP 90°

O-Ring Face Seal

FS2503 MF - MP 45°

T

/

T2

[—a— X
T1 T2
Part Number MORFS MNPT
FS2503-0402 %e6-18 Ve - 27
FS2503-0404 %e6-18 Ya-18
FS2503-0604 16 - 16 Ya-18
FS2503-0606 16 - 16 % - 18
FS2503-0608 16 - 16 o -14
FS2503-0806 %6 - 16 % -18
FS2503-0808 %6 - 16 1o -14
FS2503-0812 136 - 16 %% -14
FS2503-1008 1-14 o -14
FS2503-1208 136 - 12 2-14
FS2503-1212 1346 - 12 %% -14
FS2503-1616 1716 - 12 1-111%
FS2503-2020 1116 - 12 1Ya-11%

T2
|
T j_
‘Q—A—v‘
T1 T2
Part Number MORFS MNPT
FS2501-0402 %e6-18 e - 27
FS2501-0404 %e6-18 Ya-18
FS2501-0406 %e6-18 % -18
FS2501-0604 46 - 16 Ya-18
FS2501-0606 46 - 16 % -18
FS2501-0608 46 -16 12-14
FS2501-0804 136 - 16 Ya-18
FS2501-0806 %6 - 16 % -18
FS2501-0808 136 - 16 2-14
FS2501-0812 1346 - 16 %-14
FS2501-1008 1-14 1o-14
FS2501-1012 1-14 % -14
FS2501-1208 1%46- 12 12-14
FS2501-1212 1%46- 12 % -14
FS2501-1216 1%46- 12 1-11%
FS2501-1612 176 - 12 % -14
FS2501-1616 16 -12 1-11
FS2501-2016 1146 - 12 1-11%
FS2501-2020 1146 - 12 1Y -11%
FS2501-2424 2-12 12 -111

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX

Sdildvay

|eag aoe- bury-oO m

31



Sdildvav

|eag aoe4 bury-0O m

312

O-Ring Face Seal

FS2601 MF - MF - MP Tee

o]

vﬁﬂ

T3

J

FS2650 MF - MF - MF - MF Cross

Part Number

T1/T2/T3/T4
MORFS

T1/T2 T3
e o MORFS MNPT
FS2601-040404 %e6-18 Y2 -18
FS2601-060604 1146 - 16 Y2 -18
FS2601-060606 1146 - 16 3% -18
FS2601-080808 1346 - 16 1 -14
FS2601-121212 1346 - 12 3 -14
FS2601-161616 1746 - 12 1-1112

FS2603 MF - MF - MF Tee

FS2650-04040404 %e - 18
FS2650-06060606 6 - 16
FS2650-08080808 %6 - 16
FS2650-10101010 1-14

FS2650-12121212 1346 - 12
FS2650-16161616 1746 - 12
FS2650-20202020 11%16 - 12
FS2650-24242424 2-12

FS2700LN

SAE # 520601

MF - MF Bulkhead

SAE # 520401
T3
T T2
T1/T2/T3
Part Number MORFS
FS2603-040404 %e6-18
FS2603-060606 46 - 16
FS2603-060608 46 - 16
FS2603-080808 %6 - 16
FS2603-101010 1-14
FS2603-121212 1%46-12
FS2603-121216 1%46-12
FS2603-161616 1746 -12
FS2603-202020 116 - 12
FS2603-242424 2-12

T T2
b liulo MORFS  MORFS
FS2700LN-0404 %6 -18 %6 -18
FS2700LN-0606 /46 -16 146 - 16
FS2700LN-0608 146 -16 146 -16
FS2700LN-0808 136 - 16 136 - 16
FS2700LN-1010 1-14 1-14
FS2700LN-1212 1%46 - 12 1346 - 12
FS2700LN-1616 1716 - 12 176 - 12
FS2700LN-2020 1146 - 12 1146 - 12
FS2700LN-2424 2-12 2-12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"




O-Ring Face Seal

FS2701LN MF - MF Bulkhead 90° FS2702LN MF - MF Bulkhead 45°

SAE # 520701 SAE # 520801
- T1
i
‘ T2
v T2
| ; | |
T1 T2 T1 T2
Part Number Part Number
MORFS MORFS MORFS MORFS
FS2701LN-0404 %e6-18 %6 -18 FS2702LN-0404 %e6-18 %6 -18
FS2701LN-0606 6 - 16 146 - 16 FS2702LN-0606 46 -16 46 - 16
FS2701LN-0608 46 -16 %6 - 16 FS2702LN-0808 %6 -16 %6 - 16
FS2701LN-0808 %6 -16 %6 - 16 FS2702LN-1010 1-14 1-14
FS2701LN-1010 1-14 1-14 FS2702LN-1212 1%46 - 12 1346 - 12
FS2701LN-1212 1%46 - 12 136 - 12 FS2702LN-1616 1716 - 12 176 -12
FS2701LN-1616 176 - 12 16 - 12 FS2702LN-2020 116 - 12 1116 - 12
FS2701LN-2020 1146 - 12 116 - 12 FS2702LN-2424 2-12 2-12
FS2701LN-2424 2-12 2-12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX

Sdildvay

|eag aoe- bury-oO m

313



Sdildvav

|eag aoe4 bury-0O m

314

O

i

T3

4

FS2703LN MF - MF - MF
Bulkhead Tee

—T

O-Ring Face Seal

T1/T2/T3

Part Number MORFS
FS2703LN-040404 %e-18
FS2703LN-060606 46 - 16
FS2703LN-080808 1346 - 16
FS2703LN-101010 1-14
FS2703LN-121212 1%6-12
FS2703LN-161616 1%6-12
FS2703LN-202020 1146 - 12
FS2703LN-242424 2-12

FS2706LN MP- MF Bulkhead

FS2704LN MF- MF - MF
Bulkhead Tee

SAE # 520201

|‘7A4.|<7B4>|

ﬁY%

T3

T

[ —o—|

T1/T2/T3

Part Number MORFS
FS2704LN-040404 %e-18
FS2704LN-060606 46 - 16
FS2704LN-080808 1346 - 16
FS2704LN-101010 1-14
FS2704LN-121212 1%46 - 12
FS2704LN-161616 176 -12
FS2704LN-202020 1146 - 12
FS2704LN-242424 2-12

T1 T2
Part Number MNPT MORFS
FS2706LN-0404 2-18 %e6-18
FS2706LN-0606 ¥%-18 146 -16
FS2706LN-0808 2-14 136 -16
FS2706LN-1212 Y- 14 1%46-12
FS2706LN-1616 1-11% 176 - 12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"



O-Ring Face Seal

FS6400 MF - MORB FS6400L MF - MORB Long

Sdildvay

SAE # 520122
@,
T T2 n T2
(
N
|[—a—]
T1 T2 T T2
Part Number MORFS MORB Part Number MORFS MORB
FS6400-0404 %6 - 18 76 - 20 FS6400L-0404 %6 - 18 716 - 20
FS6400-0405 %e - 18 1 - 20 FS6400L-0606 6 - 16 %6 -18
FS6400-0406 %s - 18 %6 -18 FS6400L-0808 136 - 16 % -16
FS6400-0408 %s - 18 % -16 FS6400L-0810 136 - 16 % - 14
FS6400-0604 46- 16 76 - 20 FS6400L-1010 1-14 %-16
FS6400-0605 6- 16 1 - 20 FS6400L-1210 1346 - 12 %-14
FS6400-0606 46- 16 %6 -18 FS6400L-1212 1346 - 12 116 - 12
FS6400-0608 6- 16 % -16 FS6400L-1616 1746 - 12 1%6 - 12 B
FS6400-0610 46- 16 % - 14 FS6400L-2020 11%16 - 12 1% - 14
FS6400-0612 46- 16 116 - 12
FS6400-0804 136 - 16 76 - 20 O
FS6400-0806 136 - 16 %6-18 i
FS6400-0808 136 - 16 % - 16 Py
FS6400-0810 136 - 16 %-14 5
FS6400-0812 136 - 16 116 - 12 Q
FS6400-0816 136 - 16 1%6 - 12
FS6400-1006 1-14 %6 -18 Tl
FS6400-1008 1-14 % - 16 Q
FS6400-1010 1-14 % - 14 (@]
FS6400-1012 1-14 116 - 12 ®
FS6400-1206 1%46 - 12 %6 -18 d))
FS6400-1208 1%6 - 12 %-16 )
FS6400-1210 1%6 - 12 %-14 Q
FS6400-1212 1%6 - 12 1146 - 12 —_
FS6400-1216 1%6 - 12 1546 - 12
FS6400-1608 1746 - 12 %-16
FS6400-1610 1746 - 12 % -14
FS6400-1612 1746 - 12 1146 - 12
FS6400-1616 1746 - 12 1546 - 12
FS6400-1620 1746 - 12 1% - 12
FS6400-2016 11%6 - 12 1546 - 12
FS6400-2020 11116 - 12 1% - 12
FS6400-2024 11%6 - 12 17%- 12
FS6400-2420 2-12 1% - 12
FS6400-2424 2-12 17%-12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX

315



Sdildvav

|eag aoe4 bury-0O m

316

O-Ring Face Seal

T

FS6403 MF - MJ

I

e S

T2

T T2
Part Number MORFS MJIC
FS6403-0404 %e6-18 746 - 20
FS6403-0606 46 - 16 %6 -18
FS6403-0608 46 - 16 3 -16
FS6403-0808 1346 - 16 3 -16
FS6403-0810 1346 - 16 %-14
FS6403-1008 1-14 3 -16
FS6403-1010 1-14 %-14
FS6403-1212 1%46 - 12 1%6-12
FS6403-1616 176 - 12 1%46 - 12
FS6403-2020 1146 - 12 1% - 12

FS6502 MF - FFX 45°

2
N
, %
/B
E——
T T2

Part Number —\1opFs FORFS
FS6502-0404 %6 -18 %e6-18
FS6502-0606 46 -16 146 -16
FS6502-0808 136 - 16 13/6 - 16
FS6502-1010 1-14 1-14
FS6502-1212 1%46 - 12 1346 - 12
FS6502-1616 1716 - 12 176 -12
FS6502-2020 1146 - 12 1146 - 12
FS6502-2424 2-12 2-12

FS6402 MF - FJX
T T2
| «—A— ‘
T T2
Part Number
MORFS FJIC
FS6402-0404 %6-18 746 - 20
FS6402-0606 46-16 %e6-18
FS6402-0808 136 - 16 3 -16
FS6402-1010 1-14 % -14
FS6402-1212 1%46 - 12 1%6 - 12
FS6402-1616 176 - 12 1%46 - 12
FS6402-2020 1146 - 12 1% - 12
FS6500 MF - FFX 90°
SAE # 520221
T2 -
C
T1 v
A
T1 T2
Part Number
MORFS FORFS
FS6500-0404 %e6-18 %6 -18
FS6500-0406 %e6-18 %6 -18
FS6500-0606 46-16 /46 -16
FS6500-0806 136 - 16 136 - 16
FS6500-0808 136 - 16 136 - 16
FS6500-1010 1-14 1-14
FS6500-1212 1%6 - 12 1346 - 12
FS6500-1616 176 - 12 1746 - 12
FS6500-2020 1146 - 12 1146 - 12
FS6500-2424 2-12 2-12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"




FS6504 FFX - MJ

T

-

n_J

O-Ring Face Seal

FS6505 MP - FFX
SAE # 520432
™ T2
| —A— |
T1 T2
Part Number
MP FORFS
FS6505-0404 Ya-18 %e-18
FS6505-0604 ¥%-18 %e-18
FS6505-0606 ¥%-18 46 -16
FS6505-0608 ¥%-18 136 -16
FS6505-0806 o-14 46 -16
FS6505-0808 o-14 136 -16
FS6505-1212 % -14 136 -12
FS6505-1616 1-11% 176 -12

FS6600 MF - MF - FFX Tee

SAE # 520433

|‘—A—>‘._B—>‘

‘ —A— ’
T1 T2

Part Number

FORFS MIC
FS6504-0404 %e6-18 716 - 20
FS6504-0606 46 -16 %6 -18
FS6504-0808 136 -16 3% -16
FS6504-1010 1-14 % -14
FS6504-1212 1%6 - 12 116 - 12
FS6504-1616 176 - 12 1%6 - 12
FS6504-2020 116 - 12 1% -12

FS6540 FFX - MORB
T1 T2
R
T1 T2

Part Number

FORFS MORB
FS6540-0404 %e6-18 716 - 20
FS6540-0606 46 -16 %6 -18
FS6540-0808 136 -16 3% -16
FS6540-1010 1-14 % -14
FS6540-1212 1%46 - 12 116 - 12
FS6540-1616 176 -12 1%6 - 12
FS6540-2020 116 - 12 1% -12

T2 — T
L
T3 T
T1/T2 T3
Part Number

MORFS FORFS
FS6600-040404 %e6-18 %e-18
FS6600-060606 6 - 16 46 -16
FS6600-080808 136 - 16 136 -16
FS6600-101010 1-14 1-14
FS6600-121212 1%46-12 136 - 12
FS6600-161616 176 -12 176 -12
FS6600-202020 16 - 12 116 - 12
FS6600-242424 2-12 2-12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX

Sdildvay

|eag aoe- bury-oO m

317



Sdildvav

|eag aoe4 bury-0O m

318

O-Ring Face Seal

FS6602 MF - FFX - MF Tee

SAE # 520432

‘<—A—>’<—B—>‘

'S

T2

Part Number

T3

T1/T3
MORFS

M

T2
FORFS

FS6801 MF - MAORB 90°

SAE # 520220

T2

i

| —a—|

T1
MORFS

Part Number

[+

T2
MORB

FS6602-040404 %e-18 %e - 18
FS6602-060606 116 - 16 Y16 -16
FS6602-080808 %6 - 16 %6 - 16
FS6602-101010 1-14 1-14
FS6602-121212 1346 - 12 136 - 12
FS6602-161616 1746 - 12 1746 - 12
FS6602-202020 1116 - 12 11%16 - 12
FS6602-242424 2-12 2-12

FS6801L MF - MOARB 90° Long

T2

|
J

FS6801-0404 %6 -18 e - 20
FS6801-0405 %6 -18 Y2-20
FS6801-0406 %e - 18 %e-18
FS6801-0408 %e - 18 ¥ -16
FS6801-0604 16 - 16 "6 - 20
FS6801-0605 16 - 16 Y2-20
FS6801-0606 16 - 16 %e-18
FS6801-0608 16 - 16 % -16
FS6801-0610 16 - 16 s-14
FS6801-0612 16 - 16 1%6 - 12
FS6801-0804 %6 - 16 e - 20
FS6801-0806 %6 - 16 %e-18
FS6801-0808 %6 - 16 ¥ -16
FS6801-0810 %6 - 16 s-14
FS6801-0812 %6 - 16 1%6 - 12
FS6801-1008 1-14 % -16
FS6801-1010 1-14 8-14
FS6801-1012 1-14 1%e - 12
FS6801-1208 1%6 - 12 % -16
FS6801-1210 1%6 - 12 s-14
FS6801-1212 1%6 - 12 1%e - 12
FS6801-1216 1%6 - 12 1%e - 12
FS6801-1612 176 -12 1%6 - 12
FS6801-1616 176 -12 1%e - 12
FS6801-1620 176 -12 1% - 12
FS6801-2012 16 - 12 1%6 - 12
FS6801-2016 16 - 12 1%e - 12
FS6801-2020 116 - 12 1% - 12
FS6801-2024 16 - 12 17%6-12
FS6801-2420 2-12 1% - 12
FS6801-2424 2-12 17%6-12

|0—A—v
T T2
Part Number — \1opFs MORB
FS6801L-0404 %e6-18 746 - 20
FS6801L-0606 i6-16 %e6-18
FS6801L-0808 136 - 16 3 -16
FS6801L-1010 1-14 s-14
FS6801L-1212 1346 - 12 1%e6 - 12
FS6801L-1616 1746 - 12 1%6 - 12
FS6801L-2020 116 - 16 1% -12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"



O-Ring Face Seal

(o}
FS6802 MF - MAORB 45 FS6803 MF - MF - MAORB Tee
SAE # 520429
T2
A B ‘
N
- e
/B T2 —T
[ —a—| X
C
T T2
Part Number MORFS MORB |
FS6802-0404 6-16 76 - 20 T
FS6802-0406 ho - 16 %6-18
FS6802-0604 Vre - 16 716 - 20 T1/T2 T3
FS6802-0606 Whe - 16 Y1 - 18 eleLulss MORFS MORB
FS6802-0608 Vhe - 16 %-16 FS6803-040404 Y10 - 18 %6 - 20
FS6802-0610 Vro - 16 %- 14 FS6803-060606 he - 16 %e-18
FS6802-0806 Yro - 16 %o - 18 FS6803-060608 he- 16 %-16
FS6802-0808 Yro - 16 %-16 FS6803-080808 e - 16 %-16
FS6802-0810 Wro - 16 %- 14 FS6803-101010 1-14 %- 14
FS6802-0812 ro - 16 1o - 12 FS6803-121212 1%0-12 1% - 12
FS6802-1008 1-14 %-16 FS6803-161616 176 -12 1%0 - 12
FS6802-1010 1-14 %- 14 FS6803-202020 110 - 12 1%- 12
FS6802-1012 1-14 18- 12 FS6803-242424 2-12 17%-12
FS6802-1208 1%6 - 12 % - 16
FS6802-1210 1%6 - 12 %- 14
FS6802-1212 1%6 - 12 110 - 12
FS6802-1216 1%6 - 12 1% - 12
FS6802-1612 1746 - 12 110 - 12
FS6802-1616 1746 - 12 1% - 12
FS6802-1620 1746 - 12 1%- 12
FS6802-2016 16 - 12 1%06- 12
FS6802-2020 176 - 12 1%- 12
FS6802-2424 2-12 17%- 12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX

Sdildvay

|eag aoe- bury-oO m

319



Sdildvav

|eag aoe4 bury-0O m

320

O-Ring Face Seal

FS6804 MF - MAORB - MF Tee

FS6809 FFX - MAORB 90°

T2 -
|
T L
[—n—|
T T2
FECLIICT FORFS MORB
FS6809-0404 % - 18 %6 - 20
FS6809-0606 Yho - 16 %0-18
FS6809-0808 1o - 16 %-16
FS6809-1010 1-14 %-14
FS6809-1212 1346 - 12 16 - 12
FS6809-1616 1710 - 12 1%0 - 12
FS6809-2020 10 - 12 1%- 12
FS6809-0404 %0-18 %o - 20
FS6809-0606 T %0- 18
FS6809-0808 1o - 16 %-16
FS6809-1010 1-14 %-14
FS6809-1212 1%6 - 12 16 - 12
FS6809-1616 170 - 12 1%0 - 12
FS6809-2020 1012 1%- 12

SAE # 520429
\ B
T2 @ . b |
T3 T
T1/T3 T2
Part Number

& e MORFS MORB
FS6804-040404 %o - 18 The - 20
FS6804-060406 he - 16 "he - 20
FS6804-060606 he - 16 %e-18
FS6804-080608 Whe - 16 %o -18
FS6804-080808 Who - 16 %-16
FS6804-081008 e - 16 %-14
FS6804-081208 e - 16 10 - 12
FS6804-101010 1-14 % - 14
FS6804-101210 1-14 1116 - 12
FS6804-121212 1%6 - 12 1%6-12
FS6804-121216 1%6 - 12 1%6-12
FS6804-161616 176 - 12 1%46 - 12
FS6804-202020 11%e - 12 1% - 12
FS6804-242424 2-12 1% -12

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"




FS7002 MF - MBSSP

O-Ring Face Seal

FS7202 MF - MABSPP 90°

T2 L
T
T —
| —a—|
T1 T2
Part Number
MORFS MBSPP
FS7202- 0404 %e6-18 Ya-19
FS7202- 0606 46 - 16 3%-19
FS7202- 0806 %6 - 16 3%-19
FS7202- 0808 %6 - 16 1o -14
FS7202- 1008 1-14 1o -14
FS7202- 1010 1-14 % -14
FS7202- 1208 1%6 - 12 1o -14
FS7202- 1212 1%6 - 12 3% -14
FS7202- 1616 1%6-12 1-11

T1 i T2
|
T T2

Part Number — \1opFs MBSPP
FS7002-0402 %e6-18 s - 28
FS7002-0404 %e6-18 Ya-19
FS7002-0406 %e6-18 3%-19
FS7002-0604 46-16 Ya-19
FS7002-0606 i6-16 3%-19
FS7002-0608 146 -16 1 -14
FS7002-0804 13/46 - 16 14-19
FS7002-0806 o - 16 %-19
FS7002-0808 o - 16 V- 14
FS7002-1008 1-14 V- 14
FS7002-1010 1-14 5% -14
FS7002-1012 1-14 3 -14
FS7002-1208 1346 - 12 1 -14
FS7002-1212 1346 - 12 3 -14
FS7002-1216 1346 - 12 1-11
FS7002-1612 176 - 12 3 -14
FS7002-1616 176 -12 1-11
FS7002-1620 176 -12 1% -11
FS7002-2016 10 - 12 1-11
FS7002-2020 1146 - 12 1% -11
FS7002-2424 2-12 1%-11

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX

Sdildvay

|eag aoe- bury-oO m

321



Sdildvav

|eag aoe4 bury-0O m

322

O-Ring Face Seal

FS7205 MF - MMA 90°

T

T2

[—a—|

1
I

‘—A—.‘%Bg.‘

il

5

T3

[ —o—]

FS7210 MF - MF - MMA Tee

T

T1/T2 T3
Part Number MORFS  Metric Port
FS7210-040412 %e-18 M12x 1.5
FS7210-040414 %e6-18 M14x 1.5
FS7210-060614 46 -16 M14x 1.5
FS7210-060616 i6-16 M16 x 1.5
FS7210-080814 136 - 16 M14x 1.5
FS7210-080818 136 - 16 M18 x 1.5
FS7210-080822 136 - 16 M22 x 1.5
FS7210-101022 1-14 M22 x 1.5
FS7210-121227 1%6 - 12 M27 x 2.0
FS7210-161633 1716 - 12 M33 x 2.0
FS7210-202042 146 - 12 M42 x 2.0
FS7210-242448 2-12 M48 x 2.0

T T2
Part Number — \1opFs Metric Port
FS7205-0412 %e6-18 Mi12x1.5
FS7205-0414 %e6-18 Mi14 x1.5
FS7205-0610 i6-16 M10x 1.0
FS7205-0612 46-16 M12x1.5
FS7205-0614 i6-16 M14 x1.5
FS7205-0616 146 -16 M16 x 1.5
FS7205-0618 146 -16 M18x 1.5
FS7205-0814 13/46 - 16 M14 x1.5
FS7205-0816 Yho - 16 M16 x 1.5
FS7205-0818 Who - 16 M18 x 1.5
FS7205-1018 1-14 M18x 1.5
FS7205-1022 1-14 M22 x1.5
FS7205-1027 1-14 M27 x 2.0
FS7205-1222 1346 - 12 M22 x1.5
FS7205-1227 1346 - 12 M27 x 2.0
FS7205-1633 176 -12 M33 x 2.0
FS7205-2033 1146 - 12 M33 x 2.0
FS7205-2042 1146 - 12 M42 x 2.0

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX"




O-Ring Face Seal

FS7215 MF - MMA - MF Tee FS7640 MF - MM

%@% -

Sdildvay

T1/7T3 ) T1 )
Part Number MORFS  Metric Port Part Number MORFS  Metric Port
FS7215-041204 Y16 - 18 M12 x 1.5 FS7640-0410 Y16 - 18 M10 x 1
FS7215-041404 Y16 - 18 M14x 1.5 FS7640-0412 %6 - 18 M12x 1.5
FS7215-061406 o - 16 M14x 1.5 FS7640-0414 %6 - 18 M14 x 1.5
FS7215-061606 e - 16 M16 x 1.5 FS7640-0614 146 - 16 M14x 1.5
FS7215-081408 % - 16 M14x 1.5 FS7640-0616 146 - 16 M16 x 1.5
FS7215-081808 %o - 16 M18 x 1.5 FS7640-0618 146 - 16 M18 x 1.5
FS7215-082208 % - 16 M22 x 1.5 FS7640-0622 146 - 16 M22 x 1.5
FS7215-101810 1-14 M18 x 1.5 FS7640-0814 % - 16 M14x 1.5
FS7215-102210 1-14 M22 x 1.5 FS7640-0816 % - 16 M16 x 1.5
FS7215-122712 1% - 12 M27 x 2.0 FS7640-0818 % - 16 M18 x 1.5
FS7215-163316 176 - 12 M22 x 2.0 FS7640-0822 % - 16 M22 x 1.5 O
FS7215-244824 2-12 M48 x 2.0 FS7640-0827 % - 16 M27 x 2.0 |
FS7640-0833 % - 16 M33 x 2.0 3
FS7640-1018 1-14 M18 x 1.5 =
o FS7640-1022 1-14 M22 x 1.5
FS7300 MF - MMA 45 FS7640-1027 1-14 M27 x 2.0 «Q
FS7640-1033 1-14 M33 x 2.0 n
FS7640-1222 1%6 - 12 M22 x 1.5 Q
T2 FS7640-1227 1% - 12 M27 x 2.0 o
FS7640-1233 1% - 12 M33 x 2.0 )
N FS7640-1633 176 - 12 M33 x 2.0 o0
. / FS7640-2038 11 - 12 M38 x 2.0 o
5 FS7640-2042 116 - 12 M42 x 2.0 &

<

[—A—|

T T2
FEIE N VIIEE] MORFS  Metric Port
FS7300-0414 %e6-18 M14x1.5
FS7300-0616 46-16 M16 x 1.5
FS7300-0814 136 - 16 M14x1.5
FS7300-0818 136 - 16 M18 x 1.5
FS7300-1022 1-14 M22 x 1.5
FS7300-1227 1%46 - 12 M27 x 2.0
FS7300-1633 176 - 12 M33 x 2.0
FS7300-2042 1146 - 12 M42 x 2.0
FS7300-2448 2-12 M48 x 2.0

BECAUSE WE CONTINUALLY EXAMINE WAYS TO IMPROVE OUR PRODUCTS, WE RESERVE THE RIGHT TO ALTER SPECIFICATIONS WITHOUT NOTICE.

FORSAFLEX 323



